%oy g 55 olfilej] com HPLC g, 4 Valproic acid islejl as oy )S) 5 iz T o905l

\FeY/ /0¥

SealEe sl e e s
=) LR ) p)

6505l azels o calises glacdalé b aiges Yo HPLC 3, 4y s, 5 558 olSiulosT 9 oy Valproic acid iolosl el sl by, dmnlio cg

gl g0 2b )l Aged ool Cub Togo;l Gosb 5l gl c g,y 99 2 &y 03905 5 (5 S ojluil axly Hog Hlusy Jdoas wuls Sl

1. Input Data

B= Rigoll

A= Noor

1 55,70 56.61
2 39.30 30.66
3 64.30 65.40
4 37.30 35.69
5 29.90 29.80
6 '69.10 56.70
7 78.40 70.55
8 97.60 10210
g 44.20 53.40
10 32.10 27.00
it 26.40 37.00
12 29.60 24.20
13 49.00 51,90
14 31.00 26.70
15 115.70 102.10
16 38.60 40.60
17 79.60 78.10
18 105.60 92.00
19 67.00 75:50
20 1220 7.50

55.7
99.3
64.3
37.3
299
691
78.4
97.6
442
32.1
26.4
29.6
49
34
1157
38.6
79.6
105.6
64
12:2

56.61
30.66
65.4
35.69
29.8
56.7
70.55
102.1
53.4
57
37
24.2
51.9
26.7
102.1
40.6
78.1
92
75.5
7.5

2. Analysis Results

t-Statistic

Result Not Significant

) * 20 (CLIA) = 9.66

2++Vn 2+ 4.47
mTEa=< \/—) PEa = <

3+v/n 3x447

TAE (—3.54) < mTEa (9.66)

Y=2893+0.915X
Standard Error = 0.159
Coef. of Correlation = 0.986
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Y =2893+09156X 0.159 0.975592256716657

| Y =-7.713 + 1.332 X -0.003 X"2 0.112 0.9891610708244683

| Y =-6.298 + 1.241 X -0.002 X"2 0.116 0.9759503272081452

Y =0.701 X*1.079 0.134 0.9806897530093648

. Y=15.915.1.019°X 0.237 0.8739770516662132

Y =-124.756 + 45.98 InX 0.253 0.9962863975260669

. Y =85.639 -1327.846/X 0.465 -0.7975414702505209
Y = 15.915e* X 540524.225 0.9739770516662132
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(Analytical Process: Method Comparison Form)
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